
L2(31).2 (mod 3)

blocks defect matrix

G : 1 1 3× 2
2 1 3× 2
3 0 301 = χ2+, ϕ2+

4 0 302 = χ4,0, ϕ4,0

5 0 303 = χ4,1, ϕ4,1

6 0 304 = χ5,0, ϕ5,0

7 0 305 = χ5,1, ϕ5,1

8 0 306 = χ6,0, ϕ6,0

9 0 307 = χ6,1, ϕ6,1

10 0 308 = χ7,0, ϕ7,0

11 0 309 = χ7,1, ϕ7,1

12 0 3010 = χ8,0, ϕ8,0

13 0 3011 = χ8,1, ϕ8,1

14 0 3012 = χ9,0, ϕ9,0

15 0 3013 = χ9,1, ϕ9,1

16 0 3014 = χ10,0, ϕ10,0

17 0 3015 = χ10,1, ϕ10,1

18 1 3× 1
19 1 3× 1
20 1 3× 1
21 1 3× 1

blocks defect matrix

2.G : 22 1 3× 1
23 0 3016 = χ21,0, ϕ16,0

24 0 3017 = χ21,1, ϕ16,1

25 0 3018 = χ22,0, ϕ17,0

26 0 3019 = χ22,1, ϕ17,1

27 0 3020 = χ23,0, ϕ18,0

28 0 3021 = χ23,1, ϕ18,1

29 0 3022 = χ24,0, ϕ19,0

30 0 3023 = χ24,1, ϕ19,1

31 0 3024 = χ25,0, ϕ20,0

32 0 3025 = χ25,1, ϕ20,1

33 0 3026 = χ26,0, ϕ21,0

34 0 3027 = χ26,1, ϕ21,1

35 0 3028 = χ27,0, ϕ22,0

36 0 3029 = χ27,1, ϕ22,1

37 0 3030 = χ28,0, ϕ23,0

38 0 3031 = χ28,1, ϕ23,1

39 1 3× 1
40 1 3× 1
41 1 3× 1
42 1 3× 1

Block 1: ϕ1,0 ϕ11,0

11 = χ1,0 1 .
311 = χ11,0 . 1
321 = χ12,0 1 1

ϕ1,0 = 11
ϕ11,0 = 311

Block 2: ϕ1,1 ϕ11,1

12 = χ1,1 1 .
312 = χ11,1 . 1
322 = χ12,1 1 1

ϕ1,1 = 12
ϕ11,1 = 312

Block 18: ϕ12,0

323 = χ13,0 1
327 = χ15,0 1
3211 = χ17,0 1

ϕ12,0 = 321



Block 19: ϕ12,1

324 = χ13,1 1
328 = χ15,1 1
3212 = χ17,1 1

ϕ12,1 = 322

Block 20: ϕ13,0

325 = χ14,0 1
329 = χ16,0 1
3213 = χ18,0 1

ϕ13,0 = 323

Block 21: ϕ13,1

326 = χ14,1 1
3210 = χ16,1 1
3214 = χ18,1 1

ϕ13,1 = 324

Block 22: ϕ14+

3215 = χ19+ 1
3216 = χ29,0 1
3217 = χ29,1 1

ϕ14+ = 325

Block 39: ϕ24,0

3218 = χ30,0 1
3222 = χ32,0 1
3227 = χ34,1 1

ϕ24,0 = 326

Block 40: ϕ24,1

3219 = χ30,1 1
3223 = χ32,1 1
3226 = χ34,0 1

ϕ24,1 = 327



Block 41: ϕ25,0

3220 = χ31,0 1
3224 = χ33,0 1
3229 = χ35,1 1

ϕ25,0 = 328

Block 42: ϕ25,1

3221 = χ31,1 1
3225 = χ33,1 1
3228 = χ35,0 1

ϕ25,1 = 329


